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EH P 24 B AL SoEk (ER) ok (ER)
SR 3 ¥ 11”16 (+1.4)
100m NN 4] 1 ¥ 11" 29 (+1.9)
EAAZ 3 = 11”32 (+13)
200 T ES 3] 2% 22 48 (+44) | 22" 43 (+2.1)
m -
AE B 2 = 23" 20 (+5.1)
A I S 2 $ 64" 01
400m A 3 $ 55" 96
1500m REED 1 $ 4 52" 87
5000m TS 3 Sk 17 49" 02
SRR E R 313 |% 15" 36 (+19) | 15" 02 (+1.9) #
110mH SR ER 216 % 16”18 (+19) |3 15" 66 (+1.9) *
KRB 3 % 16" 22 (+1.9)
FAA 2= 5t 2 | 5 |k 59” 60
400mH N 31 % 56 82
4x100mR | X Ba.B5A. 5@ | 2 | % 43 59 & 42" 87
EA. A, KA. 5 * 3 29" 08
4xA00MR =k k. BR | 4 % 3 30" 71 "
ZIEDN 2 3 [k 1m90
=Sk RS 35 & 1ms5
EEREN 116 [&  1m80
BMAR 3|3 [k 4m20
ES Bk BARE® 3| 56 |k 4m00
EABIA 3 & 3m40
. =BRE 303 |  6mb8  (+09)
=IREk EARZALR 2 R 5m81 (+1.6)
=k BEHSE 2 | 4 |3k 13mb3 (+1.9) *
SEEEE 26 & 13m45  (+1.7) *
ERIAE % 1L SE5 3|1 & 12m58
R 22 % 37mao
B 1158 3|8 |®  32mi8
TRERE 3 sk 27mb4
TRARE 3] 3 | 46m03 .
= AT ERME 3| 4 & 43m76
TR 216 % 42m09 "
BUR =RA— 2 [ 1 [k 50me6
(% F]
EH 2.5 2 R 5 (AE) 5 (AR)
EIEEPY 2 [ 3|3 12 56 (+13) |® 12" 37 (+3.1)
100m EHAS 0 2 13" 15 (+13)
0 = 7 = 13" 33 (+23)
o0 R 2 [ 2 | 26" 35 (+34) & 26" 61  (+09)*
n = 7 2 27" 92 (+43)
R 2[5 |% 1 00" 88 sk 1 01" 95
400m BRELTH 3] 6% 1 01”92 & 1° 03" 01
ARER 0 $ 1’ 04" 25
100mH EIE=PY 111 [® 14”20 (+12) |k 13" 87  (+16)#
400mH XEHA 22 % 1 08 42 "
4% 100mR |=H. B, BR. X5 2 |3 49" 84 & 49" 59
Sk Afas 2[5 3 1m45
R REE 3|2 [%  10m53
M P 1| 4 [ 28m76
BUR Nt 3] 2 [k 38m47
N — KATHE 2 | 4 [ 24m61
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